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Part I Structure and Vocabulary

Section A
Directions:

Beneath each of the following sentences, there are four choices
marked [A], [B], [C]and[D]. Choose the one that best completes
the sentence. Mark your answer on ANSWER SHEET 1 by black-

ening the corresponding letter in the brackets with a pencil. (5

points)

Example:
I have been to the Great Wall three times 1979.
[Alfrom [B]after [Clfor [D]since

The sentence should read, “I have been to the Great Wall three times
since 1979.” Therefore, you should choose[ D].
Sample Answer
[Al[B][C)
1. Our college band,
M Tnot béing accustomed to the new conductor and lost its high
standing
[B]not being accustomed to the new conductor and resenting his
extremely critical manner
[C]resenting the new conductor's critical manner

[DJresenting the new conductor’s extremely critical manney, soon

SWiw 1



lgst its moral and its high standing

. “How are you planning to travel to California?”“I haven't decid-

ed, but I'm considering _gt a train.”
[A]take {M{o take [Cltaking [DJof taking
. “Oh, I'm too sleepy to study.” “Well, if you that late
movie last night, you wouldn’t be sleepy.”
[A]didn’t watch [ Blhaven’t watched
[C]wouldn’t have watched [DJhadn’t watched
. “Can’t you stay a little longer?” “No. My father expects
home early.”
[Althat I come [B]me to come
[C]I should come [D]me coming

. When a plane files through a cloudy region in which the tempera-
ture is near freezing point, ice

[Alare likely to form above the cold plane

[Blis likely to forming on the cold plane

[ Clis likely to form on the cold plane

[D]are likely to form over the cold plane

. These national parks are very important for preserving many ani-

mals, who would run the risk of becoming extinct.
[ Alinstead [B]nevertheless
[Cltherefore [D]otherwise

. He claims to be an expert in astronomy, but in actual fact he is
quite ignorant on the subject. he knows about it is out

of date and inaccurate.

[A]What little [B]So much
[ C]How much ) [D]So little
. The disease was kept under control early diagnosis and

2 4 P



treatment.
[Alfor virtue of [Blon virtue with
[Clby virtue ofﬁ(% ‘Q’j [D]in virtue with
9. We hadn’t met for 20 years, but I recognized him
[A]for the moment I saw him ¥ -
[Blat the moment I see him
[C]the moment I saw him
[D]the moment when I saw him
10. 2. ., these questions may sound academic, answers to them
could have profound economic and political significance
[ A]Since [B]W}}il;v [C]Unless [D]Lest

Section B ot

Directions: E 1% -

Each of the following sentences has four underlined parts
marked [A], [B], [Cland[D]. Identify the part Ao_f the sentence that
is incorrect and mark your answer on ANSWER SHEET 1 by black-
ening the corresponding letter in the brackets with a pencil. (5
points)
Example: P

A number of foreign visitors were taken to the industrial exhibi-
[A] [B]
tion, which they saw many new products.
[C] [D]

Part [C] is-wrong. The sentence should read. “A number of foreign

visitors were taken to the industrial exhibition, where they saw many
new products.” So you should choose [C].

Sample Answer

[A](B]EEE[D]

11. The detonation of 5,000 megaton nuclear warheads would ignite

3



12,
13.
14.
15.

16.

17.

so many fires in cities and forests that smoke and soot would

[A] «
block aw_;_ﬁ the sun for months on end, lowering temperatures by
[B] [c} ;. - [D]

perhaps 75 degrees.

In whatiterary form she wrote, she had but one' theme, that is, liber-
[A] [B]
ty, either national and political freedom or intellectual freedom.
[C] [D]
Edward Jenner divulged his intention of trying vaccination under
[A] [B] 0y
a bond of secrecy because he feared ridicule if they failed:
\ [C] [D]
Although once ra_nggover a 6,000 mile area all species of tigers
[A] [B] (t]
are now endangered. 7
[D]
Recent news articles have reported that fifty to eighty percent of
[A] are (B]
all handguns is used for criminal purposes.
[C] (D]
Reagan’s military budget calls for a surge of new spending on
[A] N
nuclear weapons and space research at the aim of giving the U-
[B]
nited States a strong bargaining position in talks with the Soviet
[C]

Union on arms control.

—{p] @
Inside the broken-down shed, which could not V%ééeu Ancom-
[A] [B] [C]
fortable, the Curies had worked out the most difficult experi-
[D] R

ments.



18. Rock music originated as a blend of country music and the
(A] [B]
rhythm and blues that was popular among Black Musicians
[C]
mﬁfmz 1950’s. ¢
[D] b Y .
19. Of the three plants Amy had.in her apartment, only the ivy,
Al IB]
which is the hardser, lived through the wintér.

_ [C] [D]
20. China will support the International Olympic Committee in its

move towards making participation in future Olympic Games
(a1 (B]  TCl ik +% 1 adj.
be cqmgglsoi;_r for all members. 3
(D] R
Section C
Directions: )
Beneath each of the following sentences, there are four choices
marked [A],[B], [Cland[D]. Choose the one that best completes
the sentence. Mark your answer on ANSWER SHEET 1 by black-
ening the corTespondmg letter in the brackets with a pencil. (10
points)
Example:
" The lost car of the Lees was found in the woods off
the highway.
[ Alvanished [Blscattered
[ Clabandoned [D]rejected
The sentence should read, “The lost car of the Lees was found aban-
doned in the woods off the highway.” Therefore, you should choose
[C].
Sample Answer
5



21. ¢

22

23.

24.

235,

26.

[A][B]EEE[D]
Too many child stars grow up to be unhappy adults. He has to

be cautious and not himself from real life”.

[ A]conceal ﬁ,ﬁ [B]camouflage 4% % . ’vé;r&;
[C]insulate%%.m . [D]obscure

Now the elephant is involved in a d%%e %trug le to survive
and the reason for its is onétef its glorles the huge

creature’s magnificent tusks of ivory.
[ Aldrawba [B]peril % @ [C]ﬂawzx ﬁ} ED]vicegﬁ ,%\
Balboa is rec ve ng from a knee injury last month in

Bermuda.

[ Alcontracted ’yﬂ ﬁ\.& ¥ MB]abrldged &‘ﬁ;
[Clincurred 3?»?{'? A ﬁ\% [D]collided Mﬁ

Police can keep suspects in jail fovr up to two full days without
any judge reviewing the of the arrest, the Supreme
Court ruled Monday.

[ Aleffectiveness ‘iﬁ’& [B]validity 7“ W‘Vi . & MR
[Clefficiency 4% % [D]eligibility &

In December a federal court jury awarded a $ 7.3 million ver-
dict to a woman who said her breast implants caused severe au-
toimmune disease. The jury found Dow Corning guilty of

in concealing evidence of the implants’ risks.

[A]fakeﬁ;;\] [B]fraud 3 }@..[ Clforger " [ D]fabrication (%%
The Japanese have a huge vested stake in machinery that was
built in the mid-1970s. They cannot afford to buy a revolution-
ary new machine for fear that it would obsolete those

expensive machines.

[AJexecute l_y? &’ [B]minister ‘Wﬁ &gml



27.

28.

29.

[Cldemonstrate 4 g . % m [D]render };i%'b i C?. Tady.

FNN technical analyst John Bollinger, who sometimes

viewers with market jargon and complex stock-index charts, ad-

mitted that he never wanted to appear qri;air.

[Aldiverted [B]hmde e [Clterrified [D]baffl -

What’s actually needed vitamin advocates suggest, is gulﬁlnes

for consumption. That amount may very well depend

upon age, sex and life-style habits.

[ A]lmaximum : [ B]minimum

[C]brime &fg (%) [D]optimal% ﬁ\i W]

It is well-known that the retired workers in our. country are
free medical care.

[ Alentitled to [Blinvolved in

[Clsubstantial [D]steqdy :

30. When the engine would not start the mechanic inspected all the

parts to find whag was at \
ﬁ wrong éﬁtrouble | E;]fault [Bﬁdifﬁculty
31. John said that he didn’t quite and asked me to repeat
what I had said.
[A]snatch up [ B]summon up
[C]catch on [D]watch out:'l% Sﬁ
32. When he tried to rQ__I&a , he found that the hotel that

he wanted was completely filled because of a'convention. ,

[A]complaint [Blclaim fb llt
[ C]reservation a}ﬁﬁ [D]decision

. He can be to do as much for you as you were kind e-

nough to do for me so many years ago.

Alconfided 'lﬂﬁ [Blbelieved



34.

35.

“Ic] :c'rustiﬁ ~+ [D]worshiped

Without telephone, it would be impossible to carry on the func-

tion of every business operation in the whole country.
[ Alpractically M ‘ [Blpreferably

[Clprecisely [DJ presumably K,'ﬁ’ﬁ_j

The _ newspaper accounts of the marital problems of

the royal couple fascinated many readers but made others a little

uncomfortable.

A Alsensational % 5 «ﬂg’ Wy [ B]sensuous @\'{f‘ﬁ —Qf.)

36.

37.

38.

39,

[ Clsentient ,7Q &rﬂi ﬁ'y [D]sentiment %ﬁé _ %%%gp

A guiding belief behind our Constitution is that individuals have

certain rights that ought to be protected from govern-
ment interference.

[Aladherent : - 48 4% [B]coherentl; ¢ .

[ Clcohesion [D]inherent

Every chemical change elther results from energy bemg used to
produce the change, or causes energy to be in some
form.

[ Algiven off "&/%‘ [B]put out )@’a

[Clset off [D]used up

The apartment was at $20, 000 and its owner was

happy about that. .

[ Alassaulted Yz [ B]assessed 4%

[ Classerted ‘@% ) W ) [D]avenged g% 4

In this age, education is considered an important key to success
and minority groups especially are to better them-
selves by going to college.

[ Alencouraging [ B]persuading



[ Clpersisting [D]striving ?}ﬁ . /é% ‘
40. Tom's mother tried hard to persuade him to from his
intention to invest his savings in stock market.
[Alpull out [B]glve UP Vt %?
[Cldraw in 51 Q& ) [D]back downm' j[

Part I Cloze Test

Directions:

For each numbered blank in the following passage, there are
four choices marked [A], [B], [Cland[D]. Choose the best one and
mark your answer on ANSWER SHEET 1 by blackening the corre-
sponding letter in the brackets with a pencil. (10 points)

Education has been women’s biggest 41 _of this century. In
the early years, orthodox critics warned that the education of fe-
males would make their breasts shrink, their milk dry up and their
wombs distort or twist. In 1901, there were just 1, 170 female
pupils in primary schools in all of Bengal. A hundred years later, the
literacy level among __ 42  has gone up all over Asia. But even to-
day women are expected to _ 43 their husbands, maintain com-
fortf:_lble‘ homes and raise children. '

'Still, there has been some progress. For example, women in
the subcontinent have changed their clothing customs. Earlier, a
sari—a single, long piece of thin cotton—was tied _ 44  the body.
Now almost every woman also wears an underskirt, a blouse, under-
wear, shoes, some even stockings. The pioneers had to fight to
adopt such clothing in a male- _ 45 society that criticized women

9



even for wearing s%ectacles. But they persisted. For Hindus, a law
was passed to ban sati, the practicein 46  a wife immolated her-
self on her dead h}lsband’s pyre. Other laws banned child marriage
and polygamy and madg it legal for _ 47  to remarry.

No conétitﬁtion in any Asian country toddy rmakes a distinction
between the rights it gives men and those it affords women. But
48 women are still oppressed. They are forced to remain mal-
nourished, illiterate and unemployed sex objects or child-bearing ma-
chines. Women may have become =49 of government in many
countries—India, Sri Lanka, Turkey even in Muslim-dominated
Pakistan and Bangladesh. But as any chauvinist would explain,

these women are mere puppets—and it’s the men who _ 50  the

strings.
41.[ Alcare ‘[Blvictory [Clwin [D] failure
42\ A]female [Blladies [Clwomen  [D]children

~ 43.[Alserve} [Blwait ' [€Thelp [D]treat
44\.\[}(]arounc‘;a ﬁ‘[%"]in M[F MR_ [Clon: ﬁﬂ ¥ [D]over
45.[Alruled [Bloverwhelmed[ C]led [ DJdominated
46.[ Alwhere [M which [Clthat [AD]what
47.[Alwives [B]women [Clwidows [DIfemales
48.[Alin name - [VB]{n reality  [Clin society [D]in family
49.‘[A]hp‘ads [B]bosses [C]lrulers [D]dictators, .
50.[ Ak]grasp 3 [g]hold [ Clseize [D] have%?‘ %%

Part [ Reading Comprehension
Directions:

Each of the passages below is followed by some questions. For
10



each question there are four answers marked [A], [B], [Cland[D].
Read the passage carefully and choose the best answer to each of the
questions. Then mark your answer on ANSWER SHEET 1 by
blackening the corresponding letter in the brackets with a pencil.

(40 points)
Passage 1

In U.S. A.homicideis down about 20 percent from the level of
the early 90’s; in 1997, i{‘reached the lowest rate in 30 years. Dur-
ing the 80’s, Brooklyn averaged two murders per day; last March,
Brooklyn went a full week without a homicide for the first time in a
generation. Crime is down in nearly every category, including bur-
glary and robbery. Since 1993, not only has the felon te
dropped, but the total number of violent crimes has fallenwl per-
cent, even while the population continues to grow. As Gordon
Witkin has written, “It’s hard to think of a social trend with greater
significance. ”

Many factors are at play here, among them the sheer reduction
in criminals. Tougher laws and sentences have led tmxﬁ) s rate
of imprisonment, with 1.8 million Americans now jailed, more than
double the figure of a decade age. The shift toward “community
policing” has helped, though crimes are also falling in cities that
have not adopted this system. It’s important to note that, while
most policing has improved in the past decade, there has been no na-
tional initiative on this score, just lots of local experiments.

The adoption of James Q. Wilson’s “broken windows” theory
of civil propriety has helped, too. Annoying as New York City
Mayor’s anti-walking campaign might be, there is no doubt that an

11



